16. Basebail. An exercise in the last chapter looked at the
relationship between the number of games won by Amer-
ican League baseball teams and the average atfendance at
their home games for the first half of the 2001 season.
Here are the scatterplot, the residuals plot, and part of
the regression analysis.
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a) Do you think a linear model is appropriate here? Ex-
plain.
b) Interpret the meaning of R? in this context.
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18. Secend inning. Consider again the regression of average
attendance on wins for the baseball teams examined in Ex-
ercise 16,

a) What is the correlation between wins and average af-
tendance?

b) What would you predict about the average attendance
for a team that is 2 standard deviations above aver-
age in games won?

c) If a team is 1 standard deviation below average in at-
tendance, what would you predict about the number
of games the team has won?
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20. Last inning. Refer again to the regression analysis for

;::abglelattmdamandgmesh‘;g_n by American League d
teams, seen in Exercise : l :
a) Write the equation of the regression line. o GL’LtCu (LJFQ— 4"'\'&
b) Estimate the average atfendance for a team with 50 -
wins. _fﬁSidﬂJfL[ (‘H"Lé ecro r}
¢} Interpret the meaning of the slope of the regression .
line in this context. -\
d) In general, what would a negative residual mean in we Vl'.,eed Lg_ LS f'.‘h'(
this context?
€) The St. Louis Cardinals are not included in these dat—a H =
because they are a National League team. At the time ' £ 'C{-Q"I'UD‘J MU S ‘(h‘?_
these data were collected, the Cardinals had won 43 g
games and averaged 38,988 fans at their home Pféd_[ C.T-Ed ANV U n:{— .
games. Calculate the residual for this team, and ex- '
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